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1.       sin2x + cos2x = 1          6. sin 2x = 2sin x*cos x          1. sin x = 0,         x = πn.                      1. cos x = 0,           x = 
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 + πn.       Квадратное уравнение:                       
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               9. cos 2x = 1 – sin2x              4. sin x = a,   x = (-1)narcsin a + πn    4. cos x = a,   x = ± arcos a + 2 πn     Теорема Виета:  x2 + px + q = 0;       
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           1. tg x = 0,          x = πn.                      2.  tg x = ± 1,      x = ± 
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          1.  C( = 0      2.  (kx + b)(= k       3. (ex)( = ex    4. (xn)( = nxn - 1        Объем прямоугольного параллелепипеда   V = abc           3. loga 1 = 0           4. logabc = loga b + logac
5. (ax)( = ax ln                    6.  (sin x)( = cos x    7. (cos x)( = -sin х    8. (tg x)( = 
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